B R S T

"
[ kg

=18~ KTy

LIMIT SWITCH

SR22N - SR22S
43 2% A2 Four-Circuit Double-Break SRA4A2N - SRA42S

NIPPON GEAR CO. LTD.



5 B

FEATURES

(Patent Pending)

I'% m*gjji%}:‘ul\
HHE S
High reliability

P D &I

ty 1s required.

BRI 08 300 24 & 5 85 & 2 0B

ih & Em O EfH. BEIZOC s

i 4 —7-. Tﬁmd—c}

High rigidity

The

D AEIR, 260

whole unit

structed with high rigidity.

including
inside switch and the operating mechanism 1s con-

D P o
7Y 2y b 24 vwFT9,

Limit switch developed for ma-
chinery, equipment and plants of which high reliabili-

v b2 A

the

REENT: ZF T T 7Y a v il

T IEAEMAEEZDOREN) Iy N AL vFTT,
Snap action Limit switch of large making and

breaking capacity ensured by improved snap action
mechanism.

BN VLI R & A% 72 i L
THEF e EE BEWIgm 2 Tcx A1) 3 v b R
/f o 4 '7_ C"é_o

Selected material Positive action and long ser-
vice life can be expected from the selected material
and accurate machining.

T *%

TECHNICAL SPECIFICATIONS

O =388
mteR 77

L2 A4 Hh R ETHE A
L > TUWE T,

D X1 v FERENER

R L A

Bh7KA8E (12

A+ T T o a3 MIEEBTIERNT A EICHL->TUWET,

J10N

® =%

T TE—Sa DNy b5 A TRESRIBTED
B (3 EBXUAY

KESCIHEELDBIEAFRIEL 9, F/-8&[0
B L TUF 9,

@ L/ —

T RS EESL

Rz A MIEZAERD ) 2 — 2 R 7)) > 7 A A AR TR E)
DESEIZEZoNnFd, Fi-L/N—DfiL
B (EX7°30 £ UZ180° ATIHFXL{UBEIZE

e ol ol I

® Enclosure

The Enclosure made of anticorrosion aluminium
die casting is of oil-proof, dust-proof and water-
proof construction.

® Operating mechanism

T'he snap action ensures a quick-make and quick-
break of contacts.

@ Contact

The butt type, self-wiping and silver contact has
large breaking capacity and high reliability.

‘The circuits are 1solated.

® Lever

Extemal lever is adjustable by 7° 30 increments
thru 180°. Operating direction can be changed to
transfer the return spring to the opposite side of
the internal lever.

(Refer to Item @ “Type and size of lever”)

EATEET, BLNN—DOFdk & T35 S08)
O EEEEE — 208 DT ® Ambient temperature  —20°C to +90°C
X B 95%RHLATF e Humidty 95% RH Max.
o | _
O % ® Rating
L AC
ERBIE(V)
Rated Vﬂltage 1 25 250 500
= B I It R ] COE 7L IK 3 5 E B EhhE IK  Ia i3 = (R Yk
3 Load Res. Ind. Motor Res. Ind. Motor Res. Ind. Motor
B3 B W 7 (A)
anpera"gia 20 15 7.5 15 10 5 5 3 ) 2
Bt DC
EREBIEV)
Rated Voltage 8 14 30 B 250
| TE IK I i = Ik in a5 M I In a5 I I 5 aB IK It i
Load Res. Ind. Res. Ind. Res. Ind. Res. Ind. Res. Ind.
5 B |, AT (A)
Amperage 20 15 20 15 10 7 5 3 | 5 |
OREBERUVURIEN @ Operational data
ltem Type [ SR22N | SR22S | SR42N | SR42S
B{EE TOHOBE P T  Trip travel (Max.) 10° | 5730 10° | 6°30" |
i %= o 8 &% M D Reset travel (Max.) 8° 4 8’ 4
2 B o 8 Z# T T  Total travel (Min.) 38 35 38 35°
4% @) B E R T  Recommended travel [ T |3 T
IRIEH (Kg-cm) Operating torque (Max.) 23 30 38 40

""-\_\_ ;



O AR U BT

Outline Dimensions and Mounting

SR22N-SR225-SR42N-5R42S

SRZ22NT AR SR22 NTBR SR22NTCR
SR22NT AL SR22 NTBL SHE22NTCL
SR22ST AR SHe22 S TBR SR22STCR
SH22STAL SHE22STBL SR22STCOCL
60 4— 6.5 — 82.5 =
L 57 i -HH__ 1.4 ﬂ# 60.9
o A& g e 60 A—MBX IE & 12 |‘ 52.7
| | | (Y%—20UNC. 120EEP) \| | 36.7  |19.5_
el o {:L-Ij_:{‘. ;II y -1._.'1 | - } i
o © or ==k | o ! 3
:"-a""ﬁ} _K@@ | 2y E: % | i 7L, %!a
_I.-I r@ @ :T: Y i = et b _J}J ;_q,:‘
1 LIMIT SWITCH R —— Ii—-——:i-
1 H E| | I ! ;;
| | | | . | !
] : . ﬁ}@T @ﬁQT_l | X ﬁi(_i_7§% . |
1 ] A __LJ l— ; :L""ﬁi%'}__ﬂ:— H
jt -'! I
PFY% / L3R
(NPT} ) .23.0 |
. 385
SR42NT AR SR4A2NTBR SR4A2NTCR
SR42NTAL SR4AZ2NTBL SRA2NTCL
SR42 ST AR SR42S T BR SR42STCH
SR4A2STAL SRA4A2STBL SRA4A29S T 00 e
a-M8X 1. 25B& 14 [ 527 :
” 76 B 4—¢6.5 3 4-¢6. (3%—18UNC, 14DEEP) | \  36.7 _I19.5
. - j ¥ f |
| o 572 e 76 o
;/L &5"% ST e N S B I
¢ . \@ \_2 o~ s | w| | - o}
% SR
o r@ ~ .@. o @@ ~1 @@' mi J':'t‘ Y
LIMIT SWITCH LIMIT SWITCH o
N o I3 s ® o .. ¢ [® o =3 |
i | i ke i 1|
| || l
| ||
Y @ @ i _@/i@ @’Ja ) 1|r 'l“ @ | <) ‘
Q %M—- mtl S L |
| |
-
e _?:"-__ ;
- : YizA »FRFxERLET, Note | . ( ) Shows Unified thread and NPT.

2. “HBHBELANA—LANBEATARLET,

2 . Phantom line shows lever position type B.

OEZOXRDLA

|

2]

R
i

2.

EXAMPLE 2.

T
5]

SR 4 2 S
0l 2 3 4]

0f X

1. 2 2 N T A
NOMENCLATURE EXAMPLE 1. | 12 L:_Bl hi 5 [‘E‘l
¥ Type 5
SR :AFw T TP a i - n—a21) —3FES
S R . Snap action, Rortaly contact
O gEs Circuit 6
2 . Jhir L 7:NO, NCHIs = 2 . lsolated NO, NC Contact
4 > ¥hIT L 122NO,2NCIEAS 4 Isolated 2NO,2NC Contact
#BE Function
2 . WMEr 2:Double break 7
PS~NJL Travel
N &REMTXL N : Normal travel
S.¥a—pFpFRIL S : Short travel
8

L/is—4{iIE Lever position

T @ L/S—Bft by T H N~

B L/x—ERfFH b Lh/s—f)
(455%)

BA{TH7E Mounting

A R=2OBMF3LHEEAM A . Long for back mounting

B : X—XDEMTILHEAM B . Wide for back mounting
C .4 —REEDFILTEYT ¢ : Side mounting

L/ —81{E5m Operating direction

RN A (by THNN—flLNRT)
R: C.W.(Top view)

L @ desEtEn 5@ (by Th =& h BT)
L : C.C.W.(Top view)

857%{L¥ Special specification

X i BfFx2, BREROHA U FR

X . Side mounting; Unified threads

Threads for conduit; NPT

T . Top cover side

B . Bottom cover side
(Special )



2 [B] B& I

A N 5 ~X)L Normal Travel

SR22IN

® BER

Construction

s

0| BRAERL | 2 [B] B AT
Circuitry . Two - Circuit Double-Break

(1) LAN—8EH @A EEET S [A)
Operating direction for C.W.

A\ OE

3l 0d
NG NO

SR22NT AR
SHR2aenl B
SREZ22NTCRH

(2) LN—BEA P EFET A )
Operating direction for C.C. W.

Ai C

SO
NO NG

SR22NTAL
SRHE2NTB L
SR22NTCL

Tow-Circuit Double-Break

N
™

#R 5 % (Parts List)

ddoboe

W /W
=/ \ 0O

i

&

N

5= GRS B M B IR 1 #
No. Parts No. Description Q'ty
1 SW 110101 Housing Ass'y 1
2 SW 110301 Top Cover Insulator 1
3 SW 110302 Top Cover Gasket 1
4 SW 110303 Top Cover 1
5 SW 110304 Bottom Cover Gasket 1
6 SW 110305 Bottom Cover A 1
7 SW 110306 Lever Shaft 1
8 SW 110307 Actuating Link 1
9 SW 110308 Internal Lever 1
10 | SW 110102 Torsion Spring Ass'y 1
11 SW 110309 Return Spring 1
12 SW 110310 Roller 1
13 SW 110311 Roller Guide 1
14 | SW 110312 Roller Slide Spring 1
15 SW 110313 Latch 2
16 | SW 110314 Latch Spring 2
17 SW 110315 Rocker 1
18 | SW 110103 Contact Block Ass’y 1
19 | SW 110104 Contact Lever Ass'y 1
20 SW 110105 Contact Finger 2
21 SW 110316 Contact Support 1
22 | SW 110317 Contact Spring 1
23 SW 110318 End Insulator 1
(6) SW 112301 Bottom Cover B 1
(6) | SW 112302 Bottom Cover C 1
32 Screw with Washer M4 4
33 Screw M4 1
34 Screw M4 v
35 Screw with Washer M4 5
36 Screw Ma | 7
37 Plug 1
38 Spring Washer 3
39 Roll Pin 1
40 Roll Pin 1
41 E-Ring 2
42 0O-Ring 1

ol
—



o] (AR 2 3] B8 AT

2 [B] % 3 4

saq_eags

iR 2% (Parts List)

Two-Circut Double-Break
S a3—pF pFS5X)L Short Travel

Circuitry: Two - Circuit Double-Break se N ) G- NP EET
(1) L/ x—BEAHMmHPEET A M) No. Parts No. Description Q'ty

Operating direction for C.W. 1 SW 110101 Housing Ass’y 1

2 SW 110301 Top Cover Insulator 1

A O 3 SW 110302 Top Cover Gasket 1

4 SW 110303 Top Cover 1

g 5 SW 110304 Bottom Cover Gasket 1

6 SW 110305 Bottom Cover A 1

7 SW 110306 Lever Shaft 1

8 SW 110307 Actuating Link 1

9 SW 130301 Internal Lever 1

B Di 10 SW 130105 Torsion Spring Ass’y 1

11 SW 130302 Return Spring 1

i2 SW 130303 Latch 2

NC NO 13 SW 110314 Latch Spring 2

14 SW 130102 Rocker 1

SR22STAR 15 SW 130304 Floating Lever 1

SRZSTER 16 SW 130305 Actuating Link 1

17 SW 130103 Torsion Spring Ass'y 1

SRHe=ST1CR 18 SW 130306 Retainer 1

_ 19 SW 110103 Contact Block Ass'y 1

(2 ) L”f{—ﬁﬂ‘f“?ﬁﬁﬂb{ﬁﬂ#?fﬁﬁﬂ 20 SW 130104 Contact Lever Ass'y 1

Operating direction for C.C.W. 21 SW 110105 Contact Finger 2

22 SW 110316 Contact Support 1

23 SW 110317 Contact Spring 1

A O 24 SW 110318 End Insulator 1

(6) SW 112301 Bottom Cover B 1

(6) SW 112302 Bottom Cover C 1

32 Screw with Washer p4 | 4

33 Screw M4 | 1

34 Screw M4 | 2

g 35 Screw with Washer m4 | 5

B D 36 Screw M4 | 7

- 37 Plug 1

NO N C 38 Spring Washer 3

39 Roll Pin 1

40 Roll Pin 1

SR22STAL 41 E-Ring 5

SsR22sTBL 42 0-Ring 1

SR22STCL



SR42N BEESE

\
BoE

2
=i

(
—

Sy
LA e

\
\

2egecesseyos

O BRABRR - 4 [3 B W
Circuitry : FourCircuit Double-Break

(1) Lx—BEAMmAEETAM
Operating direction for C.W.

Ai C Gg f
3!

D Hi P
NG NO

SR4A42NT AR
SRHRA2NTBR
SR42NTCR

NG

J

(2) L/R—BEAMA REFET A M
Operating direction for C.C.W.

A Oi G Ei |
B Dg H Fi
NG NO NC  NO

SR42NTAL
SR42NTB L
SR42NTC L

g6 bk

\
\

o

E

Four-Circuit Double-Break
A NS5 N Normal Travel

7

—

R (Parts List)

F= SR M an B R glEE-3
No Parts No. Description Q’ty
1 SW 150101 Housing Ass'y 1
2 SW 150301 Top Cover Insulator 1
3 SW 150302 Top Cover Gasket 1
4 SW 150303 Top Cover 1
5 SW 150304 Bottom Cover Gasket 1
6 SW 154301 Bottom Cover A 1
7 SW 110306 Lever Shaft 1
8 SW 110307 Actuating Link 1
9 SW 110308 Internal Lever 1
10 SW 150102 Torsion Spring Ass'y 1
11 SW 150306 Return Spring 1
12 SW 110310 Roller 1
13 SW 110311 Roller Guide 1
14 SW 150307 Roller Slide Spring 1
15 SW 110313 Latch 2
16 SW 110314 Latch Spring 2
17 SW 110315 Rocker 1
18 SW 150103 Contact Block Ass'y 1
19 SW 150104 Contact Lever Ass'y 1
20 SW 150309 Contact Lever Shaft 1
(6) SW 152301 Botton Cover B 1
(6) SW 150305 Bottom Cover C 1
33 Screw with Washer M4 10
34 Screw M4 9
I Plug 1
37 Spring Washer 1
38 Roll Pin 1
39 Roll Pin 1
40 E-Ring 2
41 O-Ring 1
42 Screw with Washer M4 9
43 Screw M4 1
44 Washer 1




4 [a] B X Four-Circuit Double-Break
>a— b bZJL Short Travel

W
oS

EEE

geeganF200s

a| fEAEE ¢ 4 [B] B KA

Circuitry : Four-Circuit Double-Break ZBimzR (Parts List)

(1) L/n—jz‘ﬁimf‘if?ﬂﬁj_#ﬂ%aJr?iréu Bme| BaES ;M & B W 184
Operating direction for C.W. No. asite K, Dscription Q'ty

1 SW 150101 Housing Ass'y 1

A C G E 2 SW 150301 Top Cover Insulator 1

3 SW 150302 Top Cover Gasket 1

4 SW 150303 Top Cover 1

TR e E 5 SW 150304 Bottom Cover Gasket 1

6 SW 154301 Bottom Cover A 1

i i 7 | SW 110306 | Lever Shaft 1

8 SW 110307 Actuating Link 1

B D H F 9 | SW 130301 | Internal Lever 1

10 SW 170101 Torsion Spring Ass'y 1

NO NC NO NG 11 | SW 170301 Return Spring 1

12 SW 130303 Latch 2

SRA42ST AR 13 SW 110314 Latch Spring 2

SR42STBR 14 SW 130102 Rocker 1

15 SW 130304 Floating Lever 1

SRA=STOR 16 SW 130305 Actuating Link 1

_ 17 SW 170102 Torsion Spring Ass'y 1

(2) LAN—BEAMmAREFET A M 18 | SW 130306 Retainer 1

Operating direction for C.C.W. 19 | SW 150103 Contact Block Ass'y 1

20 SW 150104 Contact Lever Ass'y 1

A C G E 21 SW 170302 Contact Lever Shaft 1

(6) SW 152301 Bottom Cover B 1

g i (6) SW 150305 Bottom Cover C 1

33 Screw with Washer M4 10

— - 34 Screw M4 9

35 Plug 1

i i 37 Spring Washer 1

38 Roll Pin 1

B H F 39 Roll Pin 1

NC  NO NG NO a0 €-Ring 2

= 41 O-Ring 1

SR42ST AL 42 Screw with Washer M4 9

SRA42S T BL 43 Screw M4 1

SR42STCL 44 Weishist ‘




L/ N—DFAK & ~FiE  Type and size of levers

= D MERR~T Y &= v i
Eli=t =t s e N LN—N&EIL O—5—4H%A4 FHR—F W . ?Zﬁ—j i, ::iq—{(f(mm) )
Roller straddle Lever length L Roller side support DBURLIT 2 A 725U 7% > T
| RV Form H 38|51 |64|76| H IR Form =7
O| 54 _ The values of size in the table are
= o a1 4d rounded of actual values in mm.
Al o row g e QL —DTFELURKRDERTET
aa * EIHER T & v,
44 0|0 7y .
N . / How to order levers: Indicate as follows
& | oEooee &
51 — 22 /19
: ol elele| [s1| —- . {51 =T ae o
Al (1) v-~—fgL  Leverlenght L
32/0/0|0 |0 =y (2) w—FExH Roller hight H
ololololzs pd_ (3) w—F1Fsd Roller diameter ¢d
s R L N—na— 7% d 1319mmiZ % -
25 o O O O :I | i-l,l _/ t ) H Tbﬁi“ﬁ—n
DO | L) | 22 -/ 3 . fm L 2N— 1% H'64mm & 76mm?) L 23— L
- — Z1F22mm3 L UF25mm) v — 7 ) HL
19/0[0|0|O - T
B2 FiFrsnzx v,
. QIO 6] Standard roller diameter is 19mm.
4d 13|00 |0 |0 B3 ; Roller diameters of 22mm and 25mm
it olololols $d_ are available for lever lengths of 64mm
— T > L A? B3 | and 76mm.
== 1| [5/0|9|0/0 e s
______ e e Ol0|0|0|03 li Llf A= tH FabsrA  Dimensions
_ L ] n—7X b7 FJL  Roller straddle
00O |O|0O|O - L —3 52 48T e
O O O O R03 48T Serration / L I:IIJI gl;
PIIOT ! v
R6| O | O[O | O B4 7T 5
| ' ¢d L
O[O|O|O|RIO —— =
RI3 LY 2 q |
CAECHES {! 7 3 JALH .f,f"'"-
. OlolOs | T | = (@ ;
| A3RI9| |O|O|O a | ot
¢d olololre n—7J44 FH#K— b Roller side support
: N o ' BS 55 5L :.::
1 :I 1?\ l R25 di L —3i-3 487 i___]' x
\L____i___ H R29 : SRS 48T Serration ) il = ;
- =l e : j‘e'il
e b |
H35 _l_._+_l i !: o
R38 I o %\\
R4 | ‘fﬁlﬂﬁ—..j L ]
' = 1 %
EKHAZAATARBRIIOVWTRFEL(ERTTH_¢HHHNe T,

G EARXEFPIEHRNS

EE ST E TI04 BRBPPRAXBE 7 — 4 - 120THEIL4ES)
B03-3573-7515 (F)03-3573-7518
X BB ZE T532 ARDEINRABEHRT — 5 —10(E9EIL4AE)
06 —304-6311 (F)06—394-3488 o
HIIME A T003 HWRTHOGXBAMR —£6-7-14EFE2~—hK—LIL2K) acsimiii
2011-841-1002 (F)011-841-4388
WaE%EF TO80 WEBTEEX AW 1 —12 — 120UBEILIRE)
B0O22-221-1818 (F)022-224-4656 Sales Offices:
orpess TAGE JnHEHBRIIXGBNE 4 - 13@EIBEHEIL3EE)
B052-841-7141 (F)052-853-0686
GRS T/732 LEBEMEX NI B 5 - QEEIE4E)D
) B082-262-1711 (F)082-262-2333 -
SRR T802 INAMNBIEILXKEXE -1 -50NESEE=HIL4R)
2003-541-1411 (F)093-541-1250
MBEER TOOI-21 B B B A A M A KE Q9 7 6
S _ B098-874-5622 (F)098-874-5621
YELLO8® T070-060 RBRNEBMEHATHBTIHE2 4
n0240-25-4865 (F)0240-25-4361
7y 4 FO52 M = ) B ER DB R @ 7 E W

BULLETIN E-301B

NIPPON GEAR CO. LTD.

Head Office:

7 Kirinara-cho. Fujisawa-shi, Kanagawa-ken, 252, Japan
Telephone: X81-466-45-2250(0verseas Section)
X81-466-45-2183(0verseas Section)
Telex:0-3862-261 (INGCFUJ J)

Tokvo, Osaka, Sapporo, Sendai, Nagova,
Hiroshima, Fukuoka, Okinawa

'_ \

10604 AS




